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5a) Center the 3-4 joint where all poles intersect equally. 


b) When centered the ends of the poles show 8 corner points in a cubic relationship. When woven correctly there is a triangle hole looking down each pole and a square hole in the center of each square plane. 





 6a) Push the opposite corners (diagonal of the square plane) towards the center. The opposite corners pull out from the center. 


b) The 4 outside corners make a tetrahedron pattern. The inside corners form a small upside down tetrahedron with the points centered to the large triangles. 


c) Both tetrahedron and cube are two forms of one movement pattern through the center spherical weave.





7a) This 3-4 joint can collapse into a bundled position. There are no fix fulcrum points, it will collapse in 3 directions perpendicular to each other. b) It collapses in 2 different ways. One shows the 4 ends making a square pattern; the other collapsing shows the 4 ends making a triangle pattern with a center. Can you figure how to do this?





c) The 3 ways of collapsing reflect the 3 axis through the center of the 6 square planes of the cube. d) The 3 directions are shown in the 3 axis of the cuboctahedron pattern (6 square planes). The 8 triangles show the directions of the 3-4 joint. The triangle and square planes correspond to the holes referred to in (5b). The cuboctahedron is an important semi-regular polyhedron. e) The 3 axis show 6 end points of the octahedron, (seen in drawing 3e). 
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